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Solving Sequence

A knot diagranﬂ

7%8%4%9»511>12%6ﬁ261% 10 => C5,C9, C12
C3 cg C11 C2 1 €10

Ideals for irreducible component#ﬂ)f Xpar

I} = (—3004101246716u?° — 373089817451u™® + - - - + 21082954445324b + 26346240192572,
1831272589986u2° + 6021193747461 + - - - + 21082954445324a — 24452295430928,

u?' +u? 4+ 8u — 8)

I3 = (4a’u+6a® + b — 1, 4a® + dau — 6a — Tu + 10, u® — 2)

IV={(a, b+v+1, v>+20> +v+1)

* 3 irreducible components of dim¢ = 0, with total 30 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L
It = (—3.00 x 102420 —3.73 x 10 u'? +. . . 4+2.11 X 10'®b+2.63 X 10'?, 1.83 X
10'24204-6.02x 101 4?4 . - 4+2.11 X102 —2.45 X 10*3, u?'+u?°+...48u—8)

(i) Arc colorings
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a7 =
ag =
ay4 =

ag =

0.142490u2° + 0.0176963u'® + - - - + 2.40462u — 1.24965
0.229350:2° — 0.0462558u + - - - — 2.86426u + 2.40946>

0.0868603u2° — 0.0285595u!? + - - - — 0.459641u + 1.15981)

0.142490u*® + 0.0176963u'® + - - - + 2.40462u — 1.24965

0.138686u2° + 0.00718333u!'® + - - - — 0.505659u + 1.36119
—0.242033u%% + 0.00703747u'® + - - - — 5.49406w + 2.13835

0.128794u2° + 0.0122843u'° + - - - — 3.05410u + 1.34108
0.237410u2° — 0.0250130u'° + - - - — 2.82817u + 2.12013

—0.128794u29 + 0.0122843u!9 + - - - — 3.05410u + 1.34108
ay = 0.111694u2° — 0.00741087u'® + - - - — 0.669180w + 0.991499

<0.121424u20 —0.0196218u! + - .- — 2.92331u + 2.24622)
aio =

ag —

a9 =

—0.185607u?’ — 0.0285721u!? + - - - — 2.65413u + 1.26626

(ii) Obstruction class = —1

(iii) Cusp Shapes
— 20083336030791,20 _ 503201530200 , 19 | . 4 136967234579540 144077080803222

21082954445324 T 21082954445324 5270738611331 © 5270738611331




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 u?t + 36u0 + - - 4 11991u + 529
C2,C5 w4020 . — 590 — 23
C3,Cy4,C7 u21—u20+---+8u+8
Cs

C6,C11 u?t =20 o 8u? — 1
Co u?t + 200 4 - — 144y — 52

€10, C12 ' +10u + -+ 16u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 y?t —92y%0 ... 4 39622923y — 279841
2, Cs y?t — 36970 + - - 4+ 11991y — 529
3, y*t —35y% + -+ 4+ 320y — 64
cs

C6, C11 =10y + .-+ 16y — 1
Co y*t — 66y°° + - - + 76376y — 2704

€10, C12 v +6y20 4+ -+ 96y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.901926 + 0.0514071
a= 1.58428 + 0.442301
b= 0.929270 — 0.6211781

—0.70179 + 4.442961

—15.1059 — 6.65141

u = —0.901926 — 0.0514071
a = 1.58428 — 0.442301
b= 0.929270 + 0.6211781

—0.70179 — 4.442961

—15.1059 + 6.65141

u = —0.487980 + 0.5359981
a = —1.29130 — 1.867841
b= —-0.972602 + 0.2179791

—3.41098 +- 0.724781

—18.1754 — 4.15071

u = —0.487980 — 0.5359981
a = —1.29130 + 1.867841
b= -0.972602 — 0.2179791

—3.41098 — 0.724781

—18.1754 + 4.15071

u= 0.667009 + 0.2500561
a= 0.473812 — 0.3528171
0.746002 — 0.5170251

—0.131566 + 0.2154551

—13.55030 4 1.359451

u = 0.667009 — 0.2500561
a= 0.473812 4+ 0.3528171
0.746002 4 0.5170251

—0.131566 — 0.2154551

—13.55030 — 1.359451

u = —1.336150 + 0.2864731
a = —0.480443 — 0.2105781
b= 0.219656 + 0.6849641

—6.45258 + 0.58096.1

—15.0688 — 0.05621

u = —1.336150 — 0.2864731
a = —0.480443 + 0.2105781

—6.45258 — 0.580961

—15.0688 + 0.05621

b= 0.219656 — 0.6849641

u = —1.46037

a = —1.04497 —6.73694 —12.3530

b= —0.429188

u= 137773+ 0.63713]

a= 124070 —1.074671 —9.24475 — 5.317861 —17.8058 + 4.08131

b= 1.177670 + 0.5226911




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u= 137773 —0.637131
a= 1.24070 + 1.074671
b= 1.177670 — 0.5226911

—9.24475 + 5.317861

—17.8058 — 4.08131

u= 0.007014 4 0.4281321
a= 0.157773 4 1.3180501
b= —0.876187 — 0.6949431

2.12758 — 2.676551

—5.20055 + 2.495601

u= 0.007014 — 0.4281321
a= 0.157773 — 1.3180501
b= —0.876187 + 0.6949431

2.12758 + 2.676551

—5.20055 — 2.495601

u=0.380480
= 0.651164
b= 0.349133

—0.576083

—17.0820

1.73579 + 0.228951
a = —1.43373 4+ 0.006301
b= —1.176150 + 0.4190941

—10.01720 + 3.130081

—18.2978 — 3.19921

u= 173579 — 0.228951
a = —1.43373 — 0.006301
b= —1.176150 — 0.4190941

—10.01720 — 3.130081

—18.2978 + 3.19921

1.90238 + 0.147311
a = —0.0278466 + 0.06022621
b= —0.516255 + 1.0624801

U =

—18.6129 — 3.34601

—15.4445 + 0.45931

u= 1.90238 —0.147311
a = —0.0278466 — 0.06022621
b= —0.516255 — 1.0624807

—18.6129 + 3.34601

—15.4445 — 0.45931

u = —1.89336 + 0.248521
a=—1.27473 — 0.712231
b= —1.194710 + 0.7469521

18.7399 + 9.88581

—17.0280 — 4.32107

u = —1.89336 — 0.248521
a = —1.27473 4+ 0.712231
b= —1.194710 — 0.7469521

18.7399 — 9.88581

—17.0280 + 4.32101




Solutions to I} V—1(vol ++/—=1CS) Cusp shape
u = —2.06112
= 1.49678 13.3737 —19.2100
b= 1.40668




II. I¥ = (4a®u+ 6a? + b — 1, 4a® + 4au — 6a — Tu + 10, u? — 2)

(i) Arc colorings
0
az = \u
a7 =
ag =
ay =

ag =

4a’u+6a® +a—1
—4a®u —6a® +1

1u
4a%u + 6a? + au + 2a — 1
su
4au+6a® +au+2a+u—1

Tu
4a%u+ 6a® + au +2a — 1
73a2u74a27au7a+%u71
aip =

ayp =
au+ 2a+1

(ii) Obstruction class =1

(iii) Cusp Shapes = —16a%u — 24a” — 16



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs (u — 1)6
e (u+1)°
03,04,67 (u2 _ 2)3
Cs
6 (u® —u? +1)?
€9, C10 (u? —u® + 2u— 1)
Cc11 (u3 + u? — 1)2
C12 (u® +u? +2u +1)2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 (y_ 1)6
03,04,67 (y_2)6
cs
C6, C11 (v* —y* +2y—1)°
C9, €10, C12 (v + 3y* + 2y — 1)?
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape
u= 141421
a = —0.388001 —7.69319 —23.0200
b= —0.754878
u= 1.41421

0.194000 + 0.1646881
0.877439 — 0.7448621

—3.555661 4 2.828121

—16.4902 — 2.97941

u= 1.41421
a= 0.194000 — 0.1646881
0.877439 + 0.7448621

—3.55561 — 2.828121

—16.4902 4 2.97941

u = —1.41421
a= 1.13072+ 0.959871
b= 0.877439 — 0.7448621

—3.55561 + 2.828121

—16.4902 — 2.97941

u = —1.41421
a= 1.13072 — 0.959871

—3.55561 — 2.828121

—16.4902 4 2.97941

b= 0.877439 + 0.7448621

u = —1.41421

a=—2.26144 —7.69319 —23.0200
b= —0.754878
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III. I = {a, b+v+1, v®3+ 202 + v+ 1)

(i) Arc colorings

w= (o)

a7 =
ag =
aq =

ag =

(ii) Obstruction class =1

(iii) Cusp Shapes = 4v% + 6v — 14
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,6 (u—1)3
€3,C4,C7 ud
Cs
] (u+1)°
6 ud 4 u? -1
3 249 1
C9, C12 u” +u” + 2u+
C10 wWeul4+2u—1
c11 wou?+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
3
C1,C2,Cs5 (y_l)
€3,C4,C7 v
Cs
€6, C11 vyt 2y -1
3 2
€9, €10, C12 Yy +3y" +2y—1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I7

V=1(vol + v/=1CS)

Cusp shape

v = —0.122561 + 0.7448621
a= 0
b= —0.877439 — 0.7448621

1.37919 — 2.828121

—16.8946 + 3.73881

v = —0.122561 — 0.7448621

a= 0 1.37919 + 2.828121 | —16.8946 — 3.73881
b= —0.877439 + 0.7448621

v = —1.75488

a= 0 —2.75839 —12.2110

b= 0.754878
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
€1 ((u—1)?)(u?! + 36u + - + 11991u + 529)
€2 (u—1)*)(u+1)%(u®" + 4u®® + - - — 59u — 23)

C3,C4,C7 u3(u2—2)3(u21 —u20+-~-+8u+8)
&3]

Cs (u—=1)%)(u+1)*(u®" + 4u®® + - - - — 59u — 23)
6 (u® —u? + D)) (® +u? = 1)(w? =202 4 -+ 8u? — 1)
Co (0 = u? +2u — 1)?)(u® +u? + 2u + 1) (u?! 4+ 20 + - -+ — 144y — 52)
c10 (u —u® 4+ 2u — 1)) (u® + 10u® + -+ + 16u + 1)
c11 (u® —u? + 1) (u® +u? —1)?(u? — 202 + -+ 8u® — 1)
1 (u? + v 4+ 2u+ 1)) (0 + 106 + -+ 4+ 16u + 1)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing
“ ((y — 1)°) (g2 — 92420 + -+ + 3.96229 x 107y — 279841)
c2, 05 ((y — D)) (5" — 365" + - - - + 11991y — 529)
C3,C4,C7 y3(y_2)6(y21 _35y20++320y_64)
Cs8
C6; €11 ((° —9” +2y — 1)°)(y*! — 10y + - + 16y — 1)
“ (4 + 3y + 2y — 1)®) (4" — 66y>° + - - - + 76376y — 2704)
€10, C12 ((y3 +3y% + 2y — 1)3)(y21 +6y%° + -+ + 96y — 1)
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